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Answer the following questions:
choosc the correct answer:
Q1:
(1) slop of the tangent linc for {he function f(x) = e’ + 2x + 10 at x = 0 equals........ sreanTes
a) ; b) 5 c) 2x d) other answer.
(2) the real values for solving of the given equation x> + x> —x—1=0 cquals......
a)lor-1 b)lor2or-1 c)lor3or-1 d) other answer.
(3) The linear equation which passes through two given points (1, 3) and (2, 4) is:
a)y=x+1 by=x—1 ©y=x+2. d) other answer.
(4) The real values of a quadratic cquation are equality, if (b% — 4ac)
a)<0. (b) > 0. (c)=0. d) other answer.
(5) The general form for the given equation y — 2x+1=0is:
a)y=x+1. (b)x=2y+ 1. ©y=2x—1. d) other answer.
(6) The point which it lies on the curve for the equation y = 2x% —4is:
a) (1,-3). (b) (2, 3). () (3, 12). d) other answer.
(7) The quadratic equation has a two real values, if (b% — 4ac) is:
a) > 0. ) <0. (©)=0. d) other answer.
(8) The real values of a quadratic cquation are not equality, if (b? - 4ac)
a) < 0. (b)> 0. (¢)=0. d) other answer.
(9) The lincar equation which it passes through two given points (1, 3) and (3, 4) is:
a)y=x+1. by=x—1. (©)2y—x—5=0 d) other answer.
(i0) if vx = y* + 4, then:
a) y is function of x (b) x is function of y (c) function from two sides d) other answer.
(11) if ¥x = y* + 4, then:
a) function from two sides (b) y is function of x (c) x is function of y d) other answer.
(12) if ¥x = y? + 4, then:
a) function from two sides (b) y is function of x (c) x is function of y d) other answer.

Q2:
The variable cost of producing g units equal (g% + 20q) ,the fixed cost is 100008, and the selling price of

the unit p = 1000 — g. assume that the number of units produced = number of units sold, thercfore:

(13) the total cost function C iS...............
a)C=q*+20g+10000  (b)C=q"+20qg  (c)C=20q+10000  d) other answer.
(14) the variable cost for producing 100 units equals.............
a) 200003 (b) 120005 (c) 22000 d) other answer.

(15) the total revenue R is:
a) R = 1000 — g2 (b) R = 10009 — ¢q (c) R =1000q — g*  d) other answer.

(16) number of units produced which makes total Revenue cquals 2400008

a) 400 or 600 units (b) 500 units (¢) 450 units d)-otlier answer
(17) number of units produced which makes total Revenue is maximum value: .

a) 400 units (b) 500 units (c) 450 units d) other answer.
(18) the total profit function Fis ........ceet

a) F = —q* + 800q (D) F= — 242 + 980g — 10000

(¢c) F = — g +1000g — 10000 d) other answer.
(19) The number of units produced which makes 108l profit is maximum value:

a) 245 units (b) 500 units (¢) 250 units d) other answer.
(20) the maximum profit cquals....

a) 1100458 (b) 110050% . © 600008 d) other answer.
(21) when number of units produccd equals 10 unitS then the marginal cost cquals............
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a) 508 (9) 453 fr =n) 2 d) other angwer, 2 Raya,
(22) when the level of production changes from :""‘ to 20 units, then the change i tota) cost
a) 500§ (b) 4508 (¢) Shoy d) other answer. equals,,
(23) when the level of production changes from 10 uny, to 20 units, then the change i variable cogy
uals........ .
* a) 12508 (b) 12108 (c).lzﬁﬂ.ﬁ d) other answer.,
(24) if fixed cost equals 1160008, then break-even poinggc-
a) 200 or 300 units (b) 200 or 290 umt:] (¢) 200 or 280 units d) other an
(25) The change in total profit when the size of pro@ucgo, i, creases from 100 unis (o 200 units: S
a) 38000% (b) 37000% — (c) 36000% d) other answer.

Qj.' 3 . 1]
If €' is the marginal cost function for producing 4 Uni, where C' = 4q + 10 and se|y

; ing pri P
is p = 40 — q. assume that number of units produceq = number of units sold, and C e oF the unig

the fixed cost Is k§,

thercfore:
(26) the variable cost is: ) , ,
a)2qg +10q° (b) 2q* +10q +} () 2q* + 10q d) oth
27) Change in total cost when size of production increages from 100 units to 200 ynigs: Feliahetes,
a) 610008 (b) 60000$ (c) 620008 d) other answer
(28) The change in the total profit when the volume of production increases from 2 units to 4 units: '
a) 6§ (b) 188 (c) 448 d) other answer. '
(29) If the fixed cost k equals 408, then the value of the average cost when producing 10 units js:
a) 328 (b) 30% (c) 348 d) other answer.,
Q4:
(30) Solving the given inequality x> — 5x + 6 < 0 is:
a)2 <x Sg- S (b)x <2 ()x=3 d) other answer.
GDIjA{={x+1 x+2 Z|,thenvalucof x whichmakes 4] = 24, )
4 2 4‘
a) -3 b) -2 c)1 d) other answer.
(32)if \i i\ = 6, then the value of x equals.......
a)-3 or2 b)-2or3 c)3or2 d) other answer.
(33) The cquilibrium points for the demand equation ¢ = 10 — 2p and the supply g = 1 + p is:
a) {q=3 and p =4}. (b) {g=3 and p =3}. (¢) {g=4and p =3}. d) other answer.
(34) if A= ‘; g] and Ax = |17400 gl, then value of y by using determinant method equals.......
a) -20 b) 40 )30 d) other answer.
(35) find equation of the tangent line to the function f(x) = x® + 3x+ 1 at the point x = 1.
a)y=6x+2 b) y=6x+1 )y=4x-3 d) othcr answer.
(36) the first derivative of f(x) = e is .........
a) 2xe*’ b) e’ o) xe*’ d) other answer.

Finish of the exam
My best wishes — e oxam




